
PIN Prefixes:             Model Number                       Description                                                    PIN Prefix

Revised: 

(To file a warranty claim for this product, you will need to enter this PIN Prefix into correct field on the JD WIN system.)

LP1002 48"/54" Grass Groomer

48"/54" Grass Groomer   LP1002

5-19-15

ITEM # PART # DESCRIPTION QTY.

1 ST60029 Brush Support 1

2 ST60050 Brush Assembly 22" 2

3 ST60028 Brush Mount Frame 1

4 ST43725 Spacer 4

5 ST65026 3/8" Star Lock Washer 2

6 ST65003 3/8 Flat Washer 2

7 ST65066 3/8 Stover Nut 2

8 ST43289 3/8 Plastic Knob 2

9 ST65022 8-32 x 5/8 Bolt 1

10 ST65025 8-32 Nut 1

11 ST65006 5/16 x 3/4 Carriage Bolt 4

12 ST65008 5/16 Flange Nut 8

13 ST65053 1/4 x 3/4 Carriage Bolt 1

14 ST65073 1/4" Flange Nut 1

15 ST65002 3/8 x 3-1/2 Carriage Bolt 2

1

11
7

8

5

6

4

12

10

9

15

12

14

3

13

2


